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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A
Question numbers 1 to 10 carry 1 mark each.
(_ 2 _\/§)(—2 +\/§) when simplified is :

(A) positive and irrational (B) positive and rational
(C) negative and irrational (D) negative and rational

Two rational numbers between % and % are :

(A) % and % (B) % and % (C) % and %

Which of the following is a binomial in y ?

(A) ¥+ ® v+ Y+2  (© W2y

Which of the following polynomials has —3 as a zero ?
(A) (x—3) (B) x2-9 (C) x2-3x

The value of x in fig. 1 is :

5x
4x

<A O B>

Fig. 1
(A) 80° (B) 20° (C) 25°

Given lines [}, I, and I; in fig. 2 are parallel. The value of x is :

o
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In fig. 3, in AABC, AB=AC. The value of x is :

A

80°

C
=
(A) 80° (B) 100° (C) 130° (D) 120°

Given AOAP=AOBP in fig. 4, the criteria by which the triangles are congruent :

A

B
Fig. 4

(A) SAS (B) SSS (C) RHS (D) ASA

The number of lines that can pass through a given point is :
(A) Two (B) None (C) Only one (D) Infinitely many

In the given fig. 5, the measure of ZABC is :

C
Fig. 5

(A) 80°
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SECTION - B

Question numbers 11 to 18 carry 2 marks each.

Simplify : {?—;ﬂ i

P

Express 1.323 in the form q where p and q are integers q#0

Check whether the polynomial t+1 is a factor of 4t3+4t2—t—1.

1 th
An angle is ( é) of its complement. Find the angles.

If x+y=s+w, prove that AOB is a straight line.

OR

Ray OC stands on the line AB. Ray OQ is the bisector of £ BOC and ray OP is the bisector of
Z AOC. Prove that ZPOQ=90°.
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In AABC, AB=AC. X and Y are points on AB and AC such that AX=AY. Prove that
AABY =2 AACX.

A

C
Fig. 8

In AABC, AB=AC. Disa point inside AABC such that BD=DC. Prove that £ ABD= £ ACD.

A

C
Fig. 9

The perpendicular distance of a point from the x-axis is 2 units and the perpendicular distance
from the y-axis is 3 units. Write the co-ordinates of the point if it lies in the :

(i) I Quadrant (i) II Quadrant
(iii) I Quadrant (iv) IV Quadrant

SECTION - C

Question numbers 19 to 28 carry 3 marks each.

Represent /5 on the number line.

Simplify the following by rationalising the denominators.

2 1 3
5+ 2+B B
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Evaluate : \\//_55 ki iven that 10 = 3.162.

OR

f2+\f

a + b+/3, find the value of a and b.
2-3 2+

7
ﬁ’g
~5
B

Factorise : a’(b—c)? + b3(c—a)® + c3(a—b)3.
OR
If p=4—q, prove that p>+q>+12pq =64.

If a+ b=8 and a2 +b?=40 find the value of a3+ bS.

In fig. 10, AABC and ADBC are two isosceles triangles on the same base BC and the vertices
A and D are on the same side of BC. AD is extended to meet BC at P. Prove that AP bisects

ZA.

D

P
Fig. 10

OR
Prove that angles opposite to equal sides of a triangle are equal.

If AD is the bisector of £ A of AABC, show that AB > DB.

In fig. 11, I;||l, and m,|[m,. Prove that £1+ £2=180°.

—

Fig. 11
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The unequal side of an isosceles A is 6 cm and its perimeter is 24 cm. Find its area.

Plot the points (2, 3) (=2, 3) (=2, —3) and (2, —3) on a graph sheet. Join these points.
Name the figure obtained. Also, find the area of the figure so obtained.

SECTION - D
Question numbers 29 to 34 carry 4 marks each.

If p(x)=x3—ax?+bx+3 leaves a remainder —19 when divided by (x+2) and a remainder
17 when divided by (x —2), prove that a+b=6.

Factorise : 2x3 +9x2 +10x + 3.

In AABC, the bisectors of Z ABC and Z BCA intersect at O. Prove that ZBOC = 90°+ 4‘% .

OR

The side BC of AABC is produced on both sides. Prove that the sum of the two exterior
angles so formed is greater than ZA by 180°.

If both (x—2) and (2x—1) are factors of ax?+5x+b, show that a—b=0.
OR

\/gx—xz

Simplify by factorisation method : 9-2 5
3—x

O is a point in the interior of APQR. Prove that OP + OQ+OR > 1 5 (PQ+QR+PR).

In AABC, D is the midpoint of BC. The perpendiculars from D to AB and AC are equal.
Prove that AABC is isosceles.
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(A) &7 ad STy (B) o7 a1 4wy
(C) R a1 STURHA (D) R a1 IR

2/, @ %ﬁ;aﬁaﬁqﬁﬁﬂﬂ’“@ﬁ%:
(A) %am% (B) %am% %H%ﬂ%

e & & e y % ) 32
(A) ¥+ ®) y+ Y +2 W+ 2y

fa o

Frefatad ¥ 9 fhg agoe &1 =% —3 %2
(A) (x=3) (B) x*-9

AP 1H, xF AR T

4x
O

STRfd 1

(A) 80° (B) 20° (@)

SHfd 2H, 1, 1, T I, Y@ AR €1 x FIAA R

>
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3Tfa 3%, AABCH AB=AC | x HTTH & :

A

80°

C
N\
TH{a 3
(A) 80° (B) 100° (C) 130° (D) 120°

Tpfd 4 ¥, AOAP=AOBD | Faimaad & 39 a9 1 forg fored ae gan © -

<

WMB

(A) SAS (B) SSS (C) RHS

T forg | SRt STHaTe el i §e ¢
(A) (B) IS T
(C) oA Th (D) eifHd &9 § o &

AHpfa 5 W, LABC &I AT © :

20°
A

100°
C

TR 5
(A) 80°
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apfd 8 H, AABC H, AB=AC YSII3il AB @2 AC W %AY: fog X qen Y 39 &R feoa ¥ fw
AX=AY | 435 IST f& AABY=AACX

A
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5+ 42 B
F—h T HM [0 IS STd /10 = 3.162 1

AT

243 2-V3 qaTen b
qﬁq’z_\@+2+ﬁ_a+b\/§%ﬁ a e M 1 i |

ad(b—c)® + b3 (c—a)® + 3(a—Db)’ & THEE HINT|
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qﬁp=4—q%, @ fag ®iST R pd+ g% +12pq = 64.

Ife a+b=8 MM a2+ b2=40 T, a3+ b3 T AH 1A HIfST |

THfd 10 H, AABC 2 ADBC <1 GfgaTg 3y €, S U &1 S9R BC 21 39 A 91 D, 3T BC i
T& & IR &1 AD g™ W Y= BC ! fag P W foerdt ¥ 1 fag #ifsw fF AP, £ A %1 wmfganfsa

FHA €|

D

C

P
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AT
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TPfd 11
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263 +9x2+10x +3 & OGS HIFT |

AABC H, ZABC A ZBCA % THfgum fag O W yfdwse & §1 fag wifvw f&

ZBOC = 90°+ %AA.

AT

AABC ! T BC 1 SHi IR aIern 721 ¥ 1 fag wifere fo 59 ghR = <1 <Tel 1o 1 3 ZA 9
180° eAferer & |

S (x—2) 94T (2x—1) IHI ax2+5x+b & PHES ¢ dl TEC fF a—b=0
gar

WWWW:M

3—x2

APQR % &= % W ¥ fog O feord ®1 fg #ifww ff OP+0OQ+OR > 1/ (PQ+QR+PR).

AABC ® <1 BC %1 He7 fog D ¥ 1 fog D ¥ AB @91 AC R TTol T @il 1 oTwemsdi 99 & |
fag #ifsw f AABC wmfgarg s 21
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